W zmezmR
T YT

x=6,y=3 DL XTI ROKXDEZ KD % S\,

O 5x—9y @ 2x°

x=—4,y=5 DL ZFZ.ROXDEZRD % S\,

®© 5(—8x+6y) +9(5x—2y) @ 56xy=+8x

x=T y= -2 Dk R KORDMEE Kb S\,

@O (-6x) x(-4y) @ 5x°x (=9y) + (=3x)

BIREE - B DOER ST D> O0— R NE [HEHDY R TR  https://www.okadori.net © BHHL) KL



W zmezms
T P

x=6,y=3 DL XTI ROKXDEZ KD % S\,

© bx-9y @ 2%
=5X6-9x3 =2%x6x3°
=30-27 =2%6x9
=3 =108

x=—4,y=5 DL ZFZ.ROXDEZRD % S\,

® 5(—8x+6y) +9(5x—2y) @ 56xy+8x
= — 40x + 30y + 45x — 18y _ 56xy
=5x+12y Y
—5x (—4) +12%5 g
=7x5
= —-20+60
=35
= 40

x=T y= -2 Dk R KORDMEE Kb S\,

O (=6x) % (—4y) @ 5x*x (-9y) + (—3x%)
= 24xy = —45x%y + (- 3x%)
=24 XT%x (=2) _ 45x%
= -336 3"

= 15xy
=15X7x%x (—2)
= —210

BIREE - B DOER ST D> O0— R NE [HEHDY R TR  https://www.okadori.net © BHHL) KL



